
COMPONENTS

A

K

B

HARDWARE & TOOLS

Bottom -1pc C Left side panel -1pc D Right side panel - 1pc

ASSEMBLY INSTRUCTIONS

Congratulations on the purchase of your new Signature Series product!

L M N  Wood dowel - 38pcs

NBF-WD4047

Tools Required for Assembly

 Philips Screw Driver

Top -1pc E Center panel- 1pc

F Back panel - 1pc G Big shelf  -2pcs H Small shelf -2pcs I Left door panel -1pc J Right door panel -1pc

O P Q

  Screw M4*16 - 24pcs U V

W   Coat hanger - 1pc

T

R   Screw M3.5*20 - 8pcsR

X   Supporting foot - 4pcs

S

  Cam Lock 15 - 15pcs   Cam bolt - 41pcs

L   Cam Lock 15 

  Adhesive cover - 57pcs   Screw M6*12 - 16pcs   Lockset- 2SET

  Half a lid hinge - 4pcs   Screw M3.5*16 - 6pcs   Lock catch - 2pcs

  Cam Lock 12 - 26pcs

M   Cam Lock 12 

P   Screw M6*12

R   Screw M3.5*20 R

  Screw M4*16S

U   Screw M3.5*16 

Astoria Collection - Wardrobe Storage C abinet



INSTRUCTIONS

ASSEMBLY INSTRUCTIONS

Congratulations on the purchase of your new Signature Series product! 

NBF-WD4047

P  x 16

STEP 1 STEP 2

S  x 24

STEP 3

STEP 4

L  x 15

Q  x 2

R  x 8

B

X  x 4

T  x 4

I

J

T  x 4

K  x 38

N  x 41

A

B

D

C

E

F

E

F

                 Astor ia  Col lect ion -  Wardrobe Storage Cabinet  



INSTRUCTIONS

ASSEMBLY INSTRUCTIONS

Congratulations on the purchase of your new Signature Series product! 

STEP 5

STEP 6

NBF-WD4047

F
D

C

E
G

G

H

HH

D

HH

HH

G

G

F

C

E
 x 26M

 x 26M

C

D

B

 x 6U

 x 2V

                 Astor ia  Col lect ion -  Wardrobe Storage Cabinet  

A

The Coat hanger installed on the right of the door, 
the step as below: 

The Coat hanger installed on the left of the door, 
the step as below: 

D

C

B

STEP 7

 x 6U

 x 2VA

G

H

H

H

H

H

H

H

H

G

G

G

G

G

G

G



INSTRUCTIONS

ASSEMBLY INSTRUCTIONS

Congratulations on the purchase of your new Signature Series product! 

NBF-WD4047

                Astor ia  Col lect ion -  Wardrobe Storage Cabinet  

STEP 9

Once the height is adjusted, attach 
the hinge using screw  S  in the
circular holeDepth Adjustment

Door
Side panel

Gap Adjustment

DoorSide panel

Height Adjustment

DoorSide panel

Circular hole

STEP 8

 x 4T

 oval hole

 circular hole

I

J
 oval hole

 circular hole

J

I

STEP 10

J

I

W

U  x 6
U  x 6

W

I

J

The Coat hanger installed on the right of the door, The Coat hanger installed on the left of the door, 

 x 4T



INSTRUCTIONS

ASSEMBLY INSTRUCTIONS

Congratulations on the purchase of your new Signature Series product! 

NBF-WD4047

 x 57O
 x 57O

                Astor ia  Col lect ion -  Wardrobe Storage Cabinet  

STEP 11

JI  x 57O x 57O

I
J

 x 57O x 57O




